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1 EwE OBx 1 RIRFBRAZF 33 35 68
2 HAO &= 2 KIRF AT 37 32 69
2 EAR £F 3 EstawN=a 35 34 69
4 =F 27 3 blix-wN=a 36 35 71
4 L #A7E 1 THERF 35 36 71
6 N BT 1 KIRFFEARF 37 35 72
6 ZiR FHE 2 KIRF LK F 34 38 72
8 EO OB 4 KIREEKRF 38 35 73
8 ER B4 2 RIRFBRAZF 37 36 73
8 BE AR 4 EAXF 35 38 73
11 M RN 2 Eaicfeal i Ne2 40 34 74
11 AT EiE 1 BRIt KRSF 39 35 74
11 AR TR 2 RFRIRFE 39 35 74
11 RH B 2 bR pN=a 37 37 74
11 KB WBHET 1 KIRF TR F 37 37 74
16 S EE 2 KIRF AT 40 35 75
16 wH B 4 KIRF TR F 40 35 75
16 g =R 2 RIREEKRF 37 38 75
16 b BRI 4 KIRF TR F 37 38 75
16 BB KA 2 BEREFRAS 36 39 75
21 BAR &z 1 il N 40 36 76
21 B EF 1 PR AN 40 36 76
21 AR TLHE 2 EtiwN=a 39 37 76
21 HE R 3 NN 38 38 76
21 NE B 3 KIRF LR F 38 38 76
21 HE HmME 3 RIREEKRF 38 38 76
21 EZf  1Zoh 1 KIRF LR F 36 40 76
21 ALl BETF 3 RVATH):EpNE 36 40 76
21 =% ¥k 4 KIRF AT 36 40 76
21 BE T 3 AFHIAZF 35 41 76
E, 216124 HE F (KFFIKRE) £FTOERFHNEZFRENRARE2AEB ICEH
31 &R EK 3 AFHIAF 39 38 77
31 8% EF 3 KIRF AT 38 39 77
33 FHR BX 4 BERAFRAR 41 37 78
33 PRI 4 blixpN=a 39 39 78




33 P FHS 1 HHERTF 39 39 78
36 BF kR 2 IapEE RS 40 39 79
36 WHE 2z 3 PNUE NS 40 39 79
36 =8 &= 1 RIRFBRAF 39 40 79
36 mHF FE 4 RFRIKRE 38 41 79
36 KEF =< 2 MRS 36 43 79
41 [ 3 RFRIKRE 41 39 80
41 wH =t 3 RBREEFEKRE 40 40 80
43 EO O XW; 2 REREZERT 42 39 81
43 R ER 2 REEAKRTF 40 41 81
45 B KRR 3 RFRIKRE 40 42 82
46 ER KT 3 PNUEA NS 45 40 85
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